CC Coordinate Algebra
              Unit 2 – Solving Equations & Inequalities
Practice – Day 22

Name: _____________________________________ Date: _________________________________



Graphing Linear Inequalities


Sketch the graph of each linear inequality.
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Task:  Summer Job



In order to raise money, you are planning to work during the summer babysitting and cleaning houses.  You earn $10 per hour while babysitting and $20 per hour while cleaning houses.  You need to earn at least $1000 during the summer.  

1. Write an expression to represent the amount of money earned while babysitting.  Be sure to choose a variable to represent the number of hours spent babysitting.

2. Write an expression to represent the amount of money earned while cleaning houses.

3. Write a mathematical model (inequality) representing the total amount of money earned over the summer from babysitting and cleaning houses.  

4. Graph the mathematical model.  Graph the hours babysitting on the x-axis and the hours cleaning houses on the y-axis.

5. Use the graph to answer the following:

a. Why does the graph only fall in the 1st Quadrant?

b. Is it acceptable to earn exactly $1000?  What are some possible combinations of outcomes that equal exactly $1000?  Where do all of the outcomes that total $1000 lie on the graph?  

c. Is it acceptable to earn more than $1000?  What are some possible combinations of outcomes that total more than $1000?  Where do all of these outcomes fall on the graph?
d. Is it acceptable to work 10 hours babysitting and 10 hours cleaning houses?  Why or why not?  Where does the combination of 10 hours babysitting and 10 hours cleaning houses fall on the graph?  Are combinations that fall in this area a solution to the mathematical model?   Why or why not?
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